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5 Ei S T 33 39 72 24 | 69.6 BGE
6 FE {5X 45 46 91 20.8 | 70.2
7 RSF IEH 40 48 88 | 176 | 704
8 fil == 42 47 89 [ 184 | 706
9 =g Bk 37 42 79 8 71
10 na #BE 39 42 81 96 | 71.4
11 IR HIF 36 38 74 24 | 716
12 fEt fER 41 42 83 | 112 [ 718
13 DESE 46 46 92 20 72
14 INEF BE 40 48 88 16 72
15 KT ¥TB 43 46 89 | 16.8 [ 722
16 ik B 45 48 93 | 208 | 72.2
17 B FX 38 39 77 48 | 722
18 A RS 47 43 90 | 176 | 724
19 CIREE] 40 46 86 | 136 | 724
20 Tk 1ER 44 43 87 | 144 | 726
21 AL JERE 37 42 79 6.4 | 72.6
22 EF —3x 35 44 79 64 | 72.6
23 Kix B 40 47 87 | 144 | 726
24 | FEH IEZER | 48 50 98 | 248 [ 73.2
25 B KA 39 44 83 96 | 73.4
26 g 2 36 43 79 56 | 73.4
27 LEE F1T 35 45 80 64 | 736
28 HO A 36 44 80 64 | 736
29 AEF BEX 45 44 89 15.2 | 73.8
30 wER 41 48 89 15.2 | 73.8
31 | KikA s | 47 44 91 16.8 | 74.2
32 WE B— 38 41 79 48 | 742
33 ER X 37 42 79 48 | 742
34 punz NI o 73 36 48 84 96 | 74.4
35 mE B 37 47 84 96 | 744
36 Err 0= 39 49 88 136 | 744
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40 KFHF 1T 41 48 89 | 144 | 746 NP
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43 Z2F = 34 43 77 24 | 746 NP
44 £ VN 40 46 86 | 11.2 [ 748
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46 B FlE 42 49 91 16 75
47 | 8K F=—B | 41 46 87 12 75
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51 =iH 8= 40 49 89 136 | 754 NP
52 =i g 45 51 96 20 76
53 il Bk 40 40 80 4 76
54 A3 AR 43 50 93 | 168 | 76.2
55 kR 39 42 81 48 | 76.2
56 A BE 45 49 94 | 176 | 764
57 Nk EI< 39 52 91 144 | 76.6
58 =8 IEE 39 48 87 10.4 | 76.6
59 HE BEE 48 49 97 | 204 | 76.6
60 il EE 38 45 83 64 | 766 NP2
61 % BE 41 44 85 8 77
62 SH BE 40 49 89 12 77
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69 ik I5JA 47 48 95 | 176 | 774
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71 HLE EIE 38 50 88 | 104 | 776
72 h8% BER 46 50 96 | 184 [ 776
73 =H ®HA 42 47 89 112 | 77.8
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78 BE #X 46 54 100 | 20.8 | 79.2
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81 XE Fig 44 49 93 | 136 | 794
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84 i EZ 43 47 90 | 104 [ 796
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99 wig E— 41 53 94 96 | 844
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